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2 541
M Gl Y Xotx=22l
Sl KGR 2 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
ot =1t 1,982,445 1,985,007 A 2,562
& 1,875
Al 1,980,570
ol4=% & Xlot4=2tel 69,014 71,874 A 2,860
o= 1,875
Al 67,139
XNotXs 28 69,014 71,874 A 2,860
=} 1,875
Al 67,139
Xlot4 22l 65,264 71,874 AN6,610
201 et 50,444 57,054 AN6,610
01 AP 2t 2] H| 10,580 10,580 0
O1 Bt==H| 10,580
PHMADE(SY U EY S)
415,000& 12& 4,980
>Xot=0lSRg=2 DM M
80,000 208 A 1,600
>Xols EE2 L =2 SA 22 M
4,000,000 « 1Al 4,000
02 =224 H| 39,864 46,474 N6,610
O1 2222 2 HA 7,800
DXotE HALFX &L QEQI (DA &
IG5l NE ¥€5S) 3502 x1,0000 x12& 4,200
DEXXNot=2=Y SAH| 150,000& 12& 1,800
DEXIXGI=2ASL OHY MNE3AN A2
150,000& »12& 1,800
O3 A& &H| S XYl 27,660
DEXXoEA=SA R E (350 A)
27,660,000 x1A! 27,660
O4 Xtgkd eyl 4,404
>R (Zz2C2EY)
4,404,000& ~1CH 4,404
202 044 4,320 4,320 0
01 2L Y| 4,320 4,320 0
OXote2e|gde =8 AHd| 360,000 x12& 4,320
206 M = Hl 500 500 0
01 X2 H| 500 500 0
ORXldls HEI SHX 2 358 2
500,000 =14l 500
401 AlEHI 2L 201 Y| 10,000 10,000 0
01 A& H| 10,000 10,000 0
ORXlole Edxa8 dMNER 2,000,000 54 A 10,000
KXot =2HA =22 NS ANY 3,750 0 3,750




2 541
M Gl Y Xotx=22l
2 Kotk 28 )
- _ _ RE]
SA BB (SH) - NRAY - B %@i 2t
= 1,875
Al 1,875
307 2iz2to| A 3,750 0 3,750
= 1,875
Al 1,875
02 QIZ2IAAAIE E X 3,750 0 3,750
OXlotg =&2ZA =22 XA
3,750,000 x14! 3,750
& 1,875
Al 1,875
MEEs(ota=) 1,900,000 1,900,000 0
WEAHAHXI= 1,900,000 1,900,000 0
LHEAHH K= 1,900,000 1,900,000 0
701 JIEIS HENE2 1,900,000 1,900,000 0
02 BIESEIIHIANEEZ 1,500,000 1,500,000 0
OIIEER Z22HEAE 294|
1,500,000,000& 14! 1,500,000
03 Z2IIYEHIAHAN=E2NEZ 400,000 400,000 0
OFFAN 5,9, 5 ot=22 HNEAIYE
400,000,000& = 1Al 400,000
HM2AAH|(ot=1) 13,431 13,133 298
olea2dy|(ot4=1) 12,431 12,133 298
ol 2| (3t41t) 12,431 12,133 298
101 2121 4| 12,431 12,133 298
01 = 9,757 9,459 298
OAZtZ224E 10,8412 *321 x300A| 2+ 9,757
03 RIAHE*ZZXHE = 2,674 2,674 0
og&azz 4 2,674
DEIAMLRA (Kot E)
14,855& x321 x60 Al 2+ 2,674
Jl2Zdl(ak4=1) 1,000 1,000 0
Jl2dd| (sk=1) 1,000 1,000 0
202 04 H| 1,000 1,000 0
01 2Ll 1,000 1,000 0
ORXNotx=g2=8 22/04H| 1,000, 000& 14! 1,000




